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Geometry — Law of Sines/Cosines homework Name:
Period:
Law of Sines: —— = ,b = ,c
sind sinB sinC

#1. You are standing 50 feet from the base of a tree which is leaning 12 degrees away you. If the line
from your feet to the top of the tree is 33 degrees above the ground, what is the length, L, of the tree?
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#2. The course for a boat race starts at point A and proceeds 52
degrees west of south to point B, then turns 40 degrees east of south
to point C which is directly south of point A. Boats then turn directly
north a race back to point A (see picture). If the distance from point

A to C is 8 km, what is the length of the entire race course? 8 km
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#3. Find all sides and angles:

msZA=64° a=4, mZB=062°
b oL, C =@ (e 5Y7
5;4’!‘1. SinéM L’
(= i A
_L = \f Sy = S.‘qé‘fﬁ
8824 #ati e $
5 &3 oo~ b
.‘-;gqq,g\j, y( gg2e) = 3, 532 s Ik
- 353K 708 2

-(3a/

13‘1?‘5

#4. Find all sides and angles:
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Law of Cosines: a’ =b" +c¢* —2bccos 4 b'=da*+c¢*=2accos B c* =a*+b*-2abcosC

#5. A boat travels 60 miles due east, then adjusts its course 15 degrees northward, as shown in the
J

picture. After traveling 80 miles in the new direction, how far is the boat from where it started? (Find
distance d).
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#6. The pitcher’s mound on a softball field is 46 ft from home plate and
the distance between the bases is 60 ft, as shown in the picture. (The
pitcher’s mound is not halfway between home plate and second base.)
How far is the pitcher’s mound from first base (distance from P to F)?
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#7. Find all sides and angles: c
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Geometry — Right/Non-right triangle practice sheet Name: K(’/j

Period:
. . : "
Trigonometric ratios: sind= =CHROSE cosd= dgjacent an 4 = M
hypotenise hypotenuse adjacent
Law of Sines: .a = ‘b = _C
sind sinB sinC
Law of Cosines: o’ =b"+c* —2bccos 4 b’ =a’ +c* —2accosB ¢’ =a*+b* - 2abcosC
#1. For the triangle to the right, find the following trig ratios: B
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tan 4 = l? tan B = f-rL

#2. You are standing 100 feet from the base of a tree which grows at a right angle to the ground. If the
line from your feet to the top of the tree is 28 degrees above the ground, what is the height, H, of the tree?
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#3. You are standing 100 feet from the base of a tree which is leaning 8 degrees toward you. If the line
from your feet to the top of the tree is 28 degrees above the ground, what is the length, L, of the tree?
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#4. To measure the length of a lake a surveyor walks 425 m from point A to
point B. Then the surveyor turns 135 degrees and walk 300 m to point C.
What is the length, AC, across the lake?
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#5. Find all sides and angles: c
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#6. Find all sides and angles:
mZB=45°, a=16.2, ¢c=21.1
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#7. Find all sides and angles:
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#8. Find all sides and angles:
a=8, b=108, ¢=123
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Geometry — Law of Sines/Cosines homework Name:

Period:

- a b c
Law of Sines: =

sind sinB sinC

#1. You are standing 50 feet from the base of a tree which is leaning 12 degrees away you. If the line
from your feet to the top of the tree is 33 degrees above the ground, what is the length, L, of the tree?

50 ft

#2. The course for a boat race starts at point A and proceeds 52
degrees west of south to point B, then turns 40 degrees east of south
to point C which is directly south of point A. Boats then turn directly
north a race back to point A (see picture). If the distance from point

A to C is 8 km, what is the length of the entire race course? 8 km

#3. Find all sides and angles: -
msZA=64°, a=4, mZB=62°

#4. Find all sides and angles: <
meB =572 a =8 b=10




Law of Cosines: o’ =b”+¢> —2bccos A b =a’+c*=2accos B ' =a’+b*-2abcosC

#5. A boat travels 60 miles due east, then adjusts its course 15 degrees northward, as shown in the

picture. After traveling 80 miles in the new direction, how far is the boat from where it started? (Find
distance d).
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#6. The pitcher’s mound on a softball field is 46 ft from home plate and
the distance between the bases is 60 ft, as shown in the picture. (The
pitcher’s mound is not halfway between home plate and second base.)
How far is the pitcher’s mound from first base (distance from P to F)?
F
60 ft
H

#7. Find all sides and angles: c
A A=688 = h =2 - o=l

#8. Find all sides and angles: <
a==8 b=157 =15




Geometry — Right/Non-right triangle practice worksheet Name:

Period:
: ; : : opposite adjacent opposite
Trigonometric ratios: sin 4= —OEROE cosd=—SOH g L
hypotenuse hypotenuse adjacent
: 4 i
Law of Sines: —— = _b =—
sind sinB sinC
Law of Cosines: @’ =5’ +¢> = 2bccos 4 b*=a’ +¢’ —2accos B ¢’ =a’ +b* —2abcosC
#1. For the triangle to the right, find the following trig ratios: B
sin 4 = sin B = 13 12
cos A = cos B = A ¢

tan 4 = tan B =

#2. You are standing 100 feet from the base of a tree which grows at a right angle to the ground. If the
line from your feet to the top of the tree is 28 degrees above the ground, what is the height, H, of the tree?

] 28°
100 ft

#3. You are standing 100 feet from the base of a tree which is leaning 8 degrees toward you. If the line
from your feet to the top of the tree is 28 degrees above the ground, what is the length, L, of the tree?
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100 ft

#4. To measure the length of a lake a surveyor walks 425 m from point A to
point B. Then the surveyor turns 135 degrees and walk 300 m to point C.
What is the length, AC, across the lake?




#5. Find all sides and angles:
e =S a=ioh =

#6. Find all sides and angles:
mzB =452, a=16:2, ¢=21.1

#7. Find all sides and angles:
msA=40° c=45, msB=50°

#8. Find all sides and angles:
a=28 10=10.8 =123




